
20.01.1201.01



- 2 -

2 / 1 2 / 2

13.01.01.111 x 8 13.01.01.170 x 4

13.03.01.007 x 2
M4x13

13.03.01.003 x 6
M4x20

13.06.01.026 x 8

13.07.01.108 x 24

13.07.01.110 x 24 13.01.01.049 x 22 13.03.01.021 x 16

13.07.01.100 x 4

13.02.01.019 x 1613.07.01.096 x 8

13.03.01.024 x 16

13.02.01.018 x 16

13.05.01.014 x 413.05.01.015 x 4

13.01.01.119 x 2

13.07.01.016 x 1



- 3 -

2 / 1

2 / 2

18.01.1201.077 x 318.01.1201.068 x 1 13.14.03.341 x 1

18.01.1201.074 x 1

18.01.1201.084 x 3

18.01.1201.083 x 3

18.01.1201.073 x 1
18.01.1201.081 x 3

18.01.1201.082 x 3 18.01.1201.071 x 1

18.01.1201.072 x 1

18.01.1201.010 x 1

18.01.1201.004 x 1
18.01.1201.052 x 1

18.01.1201.051 x 1

18.01.1201.005 x 1

18.01.1201.061 x 1

18.01.1201.062 x 1

18.01.1201.063 x 1
18.01.1201.064 x 1

1

18.01.1201.064

18.01.1201.063 13.03.01.021 x 8

13.07.01.100 x 4

13.03.01.024 x 4

13.07.01.016 

13.07.01.096 x 4



- 4 -

6

2

13.03.01.024 x 4

13.07.01.016 

13.07.01.096 x 4

18.01.1201.061 

18.01.1201.062

3

13.03.01.021 x 8

18.01.1201.062

18.01.1201.061 18.01.1201.061 

18.01.1201.062

4
18.01.1201.010 

13.03.01.024 x 8

13.07.01.016 

5

13.07.01.108 x 4
18.01.1201.010 

18.01.1201.004 
13.07.01.108 x 4



- 5 -

8

7
13.05.01.015 x 3

13.02.01.018 x 6

!

13.07.01.110 x 4

13.01.01.111 x 4

18.01.1201.051

!
18.01.1201.052

13.01.01.111 x 4

13.07.01.110 x 4

13.05.01.014 x 3

13.02.01.018 x 6

9
18.01.1201.051

18.01.1201.052

18.01.1201.005

4x

18.01.1201.010

10

18.01.1201.004

4x

!

!



- 6 -

11

13.02.01.018 x 4 13.05.01.014 x 1
13.05.01.015 x 1

!

13.01.01.049 x 6

12

!

13.07.01.110 x 16

18.01.1201.082 x 3

18.01.1201.081 x 3

18.01.1201.071

18.01.1201.072 

13

18.01.1201.077 x 3

18.01.1201.068 

13.07.01.108 x 16

14

18.01.1201.077 x 3

18.01.1201.082 x 3

18.01.1201.081 x 3

18.01.1201.084 x 3

18.01.1201.068 

18.01.1201.072 

18.01.1201.071

13.14.03.341 

16x
13.01.01.049 x 16



- 7 -

15

13.07.01.016 x 1

13.02.01.019 x 16

18.01.1201.083 x 3 18.01.1201.073 

16

13.06.01.026 x 2

13.03.01.007 x 2
M4x13

13.06.01.026 x 6

13.03.01.003 x 6
M4x20

17

13.01.01.119 x 2

A

B

A

B



- 8 -

18

19

18.01.1201.074

13.01.01.170 x 4

‘


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

